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Aplo=o = v,
WE|9=0 = Aﬁa
L P Walg—g = D. (1.102)
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Fria = (Ym)asW?, Fﬁn::i(vmnngzﬁ% (3.314)

000 WOOOOOOOOOOOOOooooooo

%WQ = Oa
DWW = 0,
2.W* = 0. (3.315)
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000000000000000000000000000000000000
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Aoy = o,
Wy = A0
—%%W(K)E|9:0 = D), (3.316)
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w(Z) =2, wVy)=0, w(lg)=wTa:) =wTs =1. (3.317)
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Iz, ..=000 #0000000000000000000000000000
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Du = 0. (3.318)
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. T (K
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DyVa = (3iTy — 2W))Ch + 16T e, (3.322)
GI) c00D00O0O0000 £000000000000000

t@;|9:O = M7
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1 2 4 1 4
7 R — 2'pE)m _ = mo_ * _ — p(s) mn * (K
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000000D0000000000 @9 000000000000000000
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000000000000 @3 o00o0o0ooo0oooooooo

AL = p (U — ),
A = p (U 4 iy Ky,
A = DU 4+ 2 (3T, 2V, (3:325)
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3.16.2 000000

D000 U(1) 0000 A5, 0000000000000 000000000
0000000 ¢$000000000000000000000000

Dy® = 0. (3.328)
00000000000000
¢ = ®lo—o,
Xa = %(AI;|0:07
1 _
F = %90 (3.329)

A% — A, 000000 U(1)0000000000000000000000
0000000000000000000

g, diq, xpiai—Ch Fig—2G. (3.330)

gbogbooboobgoboooboboobooboobooboon
o =¢"2;0 00000 3329 000000000000000000
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OF = (¢r%xn) + 5 (Erbx) — M (€ox1) — 2iai(€rNi)®  (3.331)
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(x,0.) =d+OpxL +OLF (3.333)
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nt = 2(0pv"&r) — 207 (ERY' YV Yur)
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A = —2i07% (EgAy) (3.335)
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ooooboooobobooobooboooobooon

6@ = O Epy (wy + P4V XL + - - (3.338)
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000 ¢ 0000000000000000000000000000000

SA = (=)D (n™A) + ¢;(A)A'A (3.339)
00000000000000
A=a+Orp, +0%f (3.340)

00000000 @EZF) 0000000
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a = e,
pL = 2ey"ur,
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002000000000 2 0000
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3.17.1 FIOOOOOODOOOOO
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O00o0o0oobooooooooooooooooooon
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4 a a a a
(3.352)
O00000D0000 2 =42 O0OO00 2 00000000000
ooooooooooo
e2iM(K) lo—o :e(k2/4)K
24 (5O k? (k* /4K
Dae lo=0 =5e (DaK )o—o,
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oobO0o0obOoooooobooobooobooobooboobbobooboboonbn
oobooobooooboobooobooooboooboobooobbooobooboobobooo
uoooboooobooooboooo

_ k4 _
DsD*K + 64DJ(D“K> lo=0 (3.353)

E = e(1+30%*M%),
2
Q2UT e(k2/4)K(1+%@2KiFi),

00000000000000000000000000
. k2 )
[WﬁmK%®WW<OWW+3WM*+QVWQW> (3.355)

oooobooooobobooboooobooooon
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kzﬂlﬂl*——}(ﬁguya¢i6¢*j%—BQ;F”F”j (3.356)
0D0000000000000000
k2 2
M = —?e(k /4)KVV,
) - k2
Fi o= e“”ﬂKK”<Wj+-2W”KJ. (3.357)
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4.1 0O00O0O0OO0OOOOO0OO
00000 &£ 000000000000000000000O00O0
5gauge(e):eXOX (4.1)
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OoooooooooooOooooDpobox 0oDoOoOooOooooobooooogo
00000000000x 00000 & 000000000000000eX 00
tobooobooboooboobooboobooooobooboboooboobooon
oobbOooboooboooooooboobooooobooooboooboobooboboon
oooobooooobobobooboobooobooon

{Ox,0y] = fxyZ0y. (4.2)
O00 000000000 0OOOO
dgauge(€)P = eX0x® = —XTx® (4.3)

Tx OoooooooooooooooooooooooooooooobooooboD
ooooboooooao

D,® = 0,0 -V, Ox® (4.4)

VX000 Ox 000000000000MO00000000000000000
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0000000000 ¢ 00000000000000000000000000
000000000000

Sgauge(€)(Du®) = —* Tx D, ® (4.5)
gboooboboboo VMXDDDDDDDDDDDDDDDDD

6gauge(€)VuX = GXOXVMZ = DMEZ. (46)
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Duexzauex—i—eYVHXfXYZ or (DEX)TX:(8N6X>Tx+[VHXTX76YTy] (4.7)
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oob0 XoOyYQooooboooooooooooooobooooboobooooo
000000000000 @A) 000000eX0x 000x 00000 X000
oooobooooboobooooooo
gbooboobgooboobobbobooboobooboobooboobobo

[D,,D,]® = —R,, Ox® = R, Tx® (4.8)

00000000 @4 oo0oU0o0o0oo0ooooUoooUooooooooo
oooobOoooobooboooonooon

Ru™ = 0,V;* — avV#X + VVYVIL;,)(fXYZ' (4.9)
00o0o00o0oo0oUo@Ely Uoooooooooooooo
Ggange () Riv” = € Ry ™ fxy? (4.10)
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000 ([Da, [P, Do]|®)py =0000000000 @) 0000000000
000000000000 00000000000

DrRuw™ [pw) = 0. (4.11)

gbhoobooobbooboboobboobboboboobooboobooboooboo
uoooboooobooboooogo

't =t — e, (4.12)
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0000000000000000000000000000000000000
8% () 0000000006, (+) 0000000000000 0000000

S ® = €0, P. (4.13)

vbobgooobouooooboboboobooboboooboboooaona
gboogboobobooboon

e
%ﬁ%m:amm+aﬁw (4.14)
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Bac(€) = 3%(c) — Sgauge(*V,7) = 00 () — V70 (4.15)
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Jgc () = €D, P,
6gC (EM)V;LZ EKR/{;LZ (416)

uoooboooobooooboooo
oooobooooboooboobooboooboaoon

[5gauge(6{()75gaUge(6§)} =& e fxy?0z (4.17)
goggobbbooooobbboboda

[Bgauge (€¥), O (€1)] = Ogange (¢*Or€™) (4.18)
O000o0O0ooooooo

[5gauge (GX )s dgauge (GA VAX )= dgauge (6)\ O e* ) (4.19)

O00000000000000 bgauge(€X) 000 Sgange(€?VsX) 00O0D0O0O0DOCO
0000000000000000000000000000
00000000000000000000000000000
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[Bec(e1), Oge(eh)] = Ogel(ely) — e Ry “ Oz (4.21)

00006, 000000000000

€y = 0T — €2 0rel (4.22)
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4.2 00000
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0000000000000PR,0000000000000000000000
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[Mmfm Mpq] = Mmqnnp - Mmpnnq - annmp + annmq>
[Mmru Pp] = Pmnnp - Pnnmpz
[Po,Pa] = 0. (4.28)

ooooooobn P, 0 My, 000D0DDDDDOO0O000D0 e 0 w,™ 0
ooooboooao
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o000 oobooooooobooooaao
Rep™(P) = Ry, ™™ (M) =0 (4.31)
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smed = Ggauge + 0, (4.35)
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gauge

omed DO0ODODDODODODOODODOOOOOOOO0MODODDODOOOOOOOOmmO

gauge

gboooboooobooooooobooog
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gauge

(4.36)
goooooooooooooooo
1 n
5éaugewupq 5(_qu/m(M) + Ryppn (M) + Rypgn (M))e
= e’ Ryppg(M) (4.37)
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0000000000000000000
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= 0 (4.42)

00000000000 @Z)oooooo Dg‘OdDDDDDDDDDD
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(M, Mpq] Mingtinp = Mupting — Muglimp + MupTimg,
(M, Pyl Potinp — Pulimp
(Mo, Kp) Ktinp — Kntimp,
Mo Qul = =5 (i) Qs
Mo, Sl = =5 Omn)a"5)
[D, Py] P,
D.Qu) = 3Qu
DS = —3Sa
D, K,n] K,
[4, Q] —i(7")a" Qo
[A, S,] i(7%)a" S,
[Py, K] 2 M + 6n D)
[Sas Pm] —(m)a" Qb
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{Qa, Qv} =2(Y"™)abPrn,
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{90 @} = —(7")abMumn + 2CapD — 3i(°)apr A (4.44)
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1
Ogange(€") = € Ox = €"Pr 4+ £"Qa + G A" My + 0D + 0A + (" 8o + €R{#:45)
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(4.46)
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a a a 1 a 1 a
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